FORGSE /NIQoR
FORGE TIOaax

User Guide

& B F



Contents / B %

Accessories /BB ... 3
Specification / BERRRRRG ..o 5
Case Features / HERRAFE ..ot 7
Side & Front View/ IEIFIATE...........ccoorvveeererreeeeeereeeseeeee oo 8

10 Panel / 10 &tk

SSD & HDD Installation/ SSD FIBBERZZERTTE .ooovooovvv 10
Opening the Left & Right Side Cover/ BRI .....ovovvoveeree 11
Motherboard Installation / ZREEFHERR ...oooovvvocvoee s 13
Graphics Card Installation / ZEEBETR T ...ooooovoevceeeeee e 14
PSU Installation / ZEEBEIRBMERR ..o 15
ARGB Fan Connection / i#$% ARGB &5 (Only for MAG FORGE M100R] ...................... 16

Control Board Specification / FZEHIARFRAE ..o 18



Accessories / Fgff

Item IEH Name &8/ Q'ty = Used for Fi&
Cable ties Cable management
i —
& %ﬁ% o
PCle slot covers .
PCl slot protection
o
Pele IR R4 PCle 1518
1 to 4 fan splitter cable .
Connecting 4 fans
1 RS 5% 4 (R
(Only for MAG FORGE M100R)
Fan screws
Front 120/140mm fan
5 4
Eﬁiﬂ’“‘ AIE 120/140mm R

Screw #6-32 10mm

Securing drive tray

%

TG EERER 222

m Screw #6-32 6.5mm Motherboard stud
X FHEARIRE




Item J&H Name £78/ Q'ty HE Used for Fi&

',‘ Screv}_*g’éf;mm PSU / PCle card
=2 e BIRHAESS / PCle £

Screw #6-32 5mm "
3.5" HDD
g 4

([m Screw M3 5mm Motherboard / SSD
x17 FHAR / SSD

Screw #6-32 4mm

3.5 HDD
@ [ EEE&%&%?LE% oo B




Specification / B

ze
R

Micro ATX Tower

n LED Controll
BB LED $=HIiR

1to 6 ARGB (3 pin) Control Board (MAG FORGE M100R)

Pre-Installed Fan

AR

MAG FORGE M100R
Front: 3 x 120mm ARGB fan ( ARGB &S )
Rear: 1 x 120 mm ARGB fan  ARGB & )

MAG FORGE M100A
Front: 3 x 120mm Auto RGB fan ( EIE &% RGB A )
Rear: 1 x 120 mm Auto RGB fan ( EIE &% RGB & )

Material

L2i

Chassis: Steel (SPCC 0.4/0.45 mm) [ $iRIME )
Front Bezel: Plastic + Mesh ( Bi¥BfB4R + 1348 )
Right Side Panel: Steel [ 58815 )

MAG FORGE M100R
Left Side Panel: Tempered glass ( {30 3E )

MAG FORGE M100A
Left Side Panel: Transparent acrylic [ Z{AERBEETT 7 )

Dust Filters

FEEidAE

Top: Magnetic frame dust filter PVC mesh
( TEER PVC BAMEAERAEETRAE )
Bottom dust filter [ FBAEEEAE )

Fan Support
XERR

Top: 2x 120 mm
Front: 3 x 120 mm
Rear: 1x 120 mm

Drive Bays

EERRE

2x2.5" SSD mounting brackets (2 {8 2.5"SSD Z4E21 )
2x3.5" HDD trays (2 {8 3.5"F2R¢IH )

[SE] n Slots
&7

Supports 4 expansion slots [ 1% 4 {E#E7EHE )

10 Panel
10 EiR

1 x Power button / EiR%iHR

1 x Reset button / RS HRER

1 x Power indicator / BiRHemIE

1 x Mic-in / EsRE#A

1 x Audio-out / E &

2 x USB 2.0 Type-A

2x USB 3.2 Gen1 Type-A

1 x LED switch button / LED tJi:#%5#

(The LED switch function is only applicable to the MAG FORGE
M100R. LED tJ#AZhAE{E# A} MAG FORGE M100R © )




Top: 120/ 240 mm
Front: 120 / 240 mm
Rear: 120 mm

Radiator Support
SRKSHE

CPU Cooler Height(CPU B{ZAZ8=E ): Max 160mm (6.3 inch)
Clearance Graphics Card Length( BR+F&KE ): Max 300 mm (11.81 inch)
= PSU Length( EIRMEAEZZRE ): ATX 180mm (7.09 inch)

Max 300 mm (11.81 inch) without 3.5” HDD tray installed

Case Dimension: 388(D) x 200(W) x 423(H) mm
HRRR~T 15.28(D) x 7.87(W) x 16.65(H) inch

M-ATX / ITX

Motherboard Suppo
SEEHR




Case Features / #3845




Side & Front View/ {i| E#0&#iE

200mm 388mm
373mm }

wwezy




10 Panel / 10 EtR

K00000©®008006006800000068000000000900SE D0
©000S0006020000060060006@00000O000600Sa0 D0
0000000000000 0000000OPO000CO000DOCOO 0O
©00000000G000000000000®0000G0000000GEO0 D0
©00000000000000000000DOC000A00000O0O0GDOO
©000000000000000000000000000000D0O0ODODO

@
=

Ul

o
©
* 4

o
T

Power button / BRIz
Reset button / SRt ILH
Power indicator / BIRfETIE
Mic-in / E&REA

& Note/ it &

e The LED switch function is only applicable to the MAG FORGE M100R.
e For more information about LED switch control, please refer to the chapter
"ARGB Fan Connection”.

. Audio-out / ZMEiH

USB 2.0 Type-A

USB 3.2 Gen 1 Type-A

LED switch button / LED £#a%s#

N
® N o o

o LED ¥ATHAEIZE S MAG FORGE M100R ©
o LED #%if#EHRAEA 2% 1##% ARGB A7) R °




SSD & HDD Installation/ SSD FIFEHE RIS X




Opening the Left & Right Side Cover/ BIR{AE A AIIR

MAG FORGE M100R




MAG FORGE M100A




Motherboard Installation / 3£ E i1k




Graphics Card Installation / RIEEETRE




PSU Installation / REEER{LESS




ARGB Fan Connection / i##% ARGB [E 3 (Only for MAG FORGE M100R)

LED switch control description:
1. Short press the LED switch once to switch the LED effect

2. Press and hold the LED switch for 3 seconds the LED flash white light once,
and then into the MSI motherboard Mystic Light synchronization mode.
Short press once to back to the Hub control mode.

3. Press and hold the LED switch for é seconds to turn off the LED.

=[]

SYS_FAN

ARGB Fan
ARGB &3

N

ARGB Fan
ARGB &R

=
= I =
=
=

SYS_FAN

ARGB Fan
ARGB &3

D)
— = =[]

SYS_FAN
—
@ Note /5 SATA Power ‘
SATA B
-

e Support up to 128 LEDs, Exceeding this limit will
lead to overheating, abnormal color or no light.

o ERASCHE 128 % LED, EEBULIREEEBB. \
26, 7=, { am?®




( {£371% MAG FORGE M100R)

2. E&LED&iﬂsﬂﬁz:ﬂFﬁ%Fﬁkﬁ—iﬁzEly‘c:%@LN%EIW&
Mystic LightRH 1R 52— iR o] B 4R e i R = o

D LED Switch [ LED3&$RiZ%IRER
LED %R | 1 4842l EDIRSRATYHALEDHRo
3. {ELEDRR6FVEERIRARALED

ARGB Fan
x ARGB E&

ARGB Fan
ARGB EE

) l<bEE
= ) svs_FaN

ARGB Fan
ARGB &

\ (E
)
[lef ==

SYS_FAN

|

[T

Connect to the MSI motherboard JRAINBOW connector
BRI E TR JRAINBOW #88



Control Board Specification / ¥ $IiR 718

50 x 30

DC5V Addressable RGB LED

4% LED 88

1x LED switch connector (LED $%##%58 )

1x SATA power connector (SATA &R )

_ 1x MS| motherboard JRAINBOW connector ( 2 E iR
1% JRAINBOW 355 )

6x 3-pin ARGB LED connectors (3 # ARGB LED #%88 )

Connectors

ARGB Pin Definition

ARGB $tHIES

Ground Data +5V

LED effect cycle: LED HMRBIR:

1. Rainbow 1. ¥4

2. Seven-color trailing 2. tEBiER

3. Seven-color gradient 3. L@

4. Violet 4 8RE

5. White 5. At

6. Blue 6. B

7. Cyan 1. 58

8. Green 8. %8

9. Yellow 9. &t

10. Red 10. 4168
FEDIEfEE 11. Rainbow breathing 11, FATIEIR
(1 short press the 12. Red breathing 12. ATEIER
LED switch) 13. Yellow breathing 13. HEIER

14. Green breathing 14. #R IR
LE_D s 15. Cyan breathing 15. 5 BIER
(454 LED #sdl ) 16. Blue breathing 16, EEIFR

17. White breathing 17. ABIER

18. Violet breathing 18. SREILIR

19. Fixed rainbow 19. EIEFRAL

20. Red 20. 418

21. Yellow 21. &6

22. Green 22. %8

23. Cyan 23. 56

24. Blue 2% B

25. White 25. 86

26. Violet 26. %8




	Accessories / 配件
	Specification / 產品規格
	Case Features / 機殼特色
	Side & Front View/ 側面和前面
	IO Panel / IO面板
	SSD & HDD Installation/ SSD 和硬碟安裝方式
	Opening the Left & Right Side Cover/ 開啟左右側板
	Motherboard Installation / 安裝主機板
	Graphics Card Installation / 安裝顯示卡
	PSU Installation / 安裝電源供應器
	ARGB Fan Connection / 連接ARGB 風扇 (Only for MAG FORGE M100R)
	Control Board Specification / 控制板規格

